

FDOT

Florida Department of Transportation

Vendor Ranking

Page 1 of 1

Letting: 01200917

Contract Time: 365 AVAILABLE DAYS

September 17, 2020 11:00

Call Order: 001

Contract:

E1T89

District: District 1

Counties: DIST/ST-WIDE, MANATEE Fed Aid No: N/A

Project(s): 43272817286 (*)

Contract Desc: Side Drain Desilting in Manatee County

AM

Ranl	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	DRAINAGE PARTNERS LLC	Non Responsive	Non-Winning Bid	\$344,800.00	100.00%
2	ATLANTIC PIPE SERVICES, LLC	Responsive	Winning bid	\$416,699.88	120.85%
3	FLOTECH ENVIRONMENTAL LLC	Responsive	Non-Winning Bid	\$440,724.89	127.82%
4	ENVIROWASTE SERVICES GROUP, INC.	Responsive	Non-Winning Bid	\$549,090.00	159.25%
5	SHENANDOAH GENERAL CONSTRUCTION, LLC	Responsive	Non-Winning Bid	\$606,462.25	175.89%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 5

 Letting:
 01200917
 September 17, 2020
 Call Order:
 001
 Contract:
 E1T89

 District:
 District 1
 Counties:
 DIST/ST-WIDE,
 Fed Aid No:
 N/A

Contract Time: 365 AVAILABLE DAYS

MANATEE

Project(s): 43272817286 (*)

Contract Descr: Side Drain Desilting in Manatee County The work under this Contract consists of Side Drain Desilting.

	e No / Item ID	Alternate	Quantity Units	(1) DRAINAGE F	PARTNERS LLC	(2) ATLANTIC PLL		· · ·	OTECH IENTAL LLC
() in	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CLEAN DRAIN	NAGE STRUCTUR	ES (LF				
0005	0430950		1.000	115.00000	115.00	1,200.00000	1,200.00	200.00000	200.00
DESILT	TING CONCRE	TE BOX CULVE	RT CY						
0010	E430 94 1		125,132.000	1.25000	156,415.00	2.07000	259,023.24	2.10000	262,777.20
	Γ PIPE, 0 to 24"		LF	2000	100,110.00	2.0.000			_5_,5
0015	E430 94 2		5,914.000	2.00000	11,828.00	3.40000	20,107.60	5.00000	29,570.00
DESILT	T PIPE, 25-36"		LF						
0020	E430 94 3		909.000	4.00000	3,636.00	5.00000	4,545.00	8.85000	8,044.65
DESILT	T PIPE, 37-48"		LF		·		·		
0025	E430 94 4		526.000	5.00000	2,630.00	7.00000	3,682.00	12.00000	6,312.00
DESILT	TPIPE, 49-60"		LF						
0030	E430 94 5		631.000	6.00000	3,786.00	9.00000	5,679.00	18.00000	11,358.00
DESILT	PIPE, 61" OR	GREATER	LF						
0035	E432 4		133,112.000	1.25000	166,390.00	0.92000	122,463.04	0.92000	122,463.04
	STORM SEWER INSPECTION (VIDEO LF CAMERA)								



09/21/2020

Tabulation of Bids

Page 2 of 5

Letting:	01200917	September 17	, 2020 C	all Order: 001		Contract:	E1T89	
Line No / Item ID Alternate Quantity Item Description Units		(1) DRAINAGE PARTNERS LLC		(2) ATLANTIC PIPE SERVICES, LLC		(3) FLOTECH ENVIRONMENTAL LLC		
() indicates it	em is bid as Lump Su	ım	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(CLEAN DRAII	NAGE STRUCTU	JRES (LF				
0001 CLEAN DRAINAGE Section Totals: STRUCTURES (LF)		\$344,800.00		\$416,699.88		\$440,724.89		
	Contract	Grand Totals:		\$344,800.00		\$416,699.88		440,724.89





Tabulation of Bids

Page 3 of 5

Letting:	01200917	September 17,	2020 Cal	II Order: 001		Contract:	E1T89	
Line No / Item ID Alternate Quantity Item Description Units		(4) ENVIROWASTE SERVICES GROUP, INC.		(5) SHENANDOAH GENERAL CONSTRUCTION, LLC				
() indicates	item is bid as Lump S	um	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(CLEAN DRAIN	NAGE STRUCTUR	ES (LF				
0005 0430 DESILTING C	950 ONCRETE BOX CU	1.000 JLVERT CY	299.00000	299.00	425.00000	425.00		
0010 E430 DESILT PIPE,	94 1 0 to 24"	125,132.000 LF	2.75000	344,113.00	3.75000	469,245.00		
0015 E430 DESILT PIPE,	94 2 25-36"	5,914.000 LF	7.50000	44,355.00	6.50000	38,441.00		
0020 E430 DESILT PIPE,	94 3 37-48"	909.000 LF	12.00000	10,908.00	8.25000	7,499.25		
0025 E430 DESILT PIPE,	94 4 49-60"	526.000 LF	13.00000	6,838.00	15.00000	7,890.00		
	94 5 61" OR GREATER	631.000 LF	15.00000	9,465.00	26.00000	16,406.00		
0035 E432 STORM SEW CAMERA)	4 ER INSPECTION (\	133,112.000 /IDEO LF	1.00000	133,112.00	0.50000	66,556.00		
0001	CLEAN DRAINAGI STRUCTURES (LF		1	\$549,090.00		\$606,462.25		



09/21/2020

Tabulation of Bids

Page 4 of 5

Letting:	01200917	September 17	2020 C a	all Order: 001		Contract:	E1T89	
Line No / Item ID Alternate Item Description		te Quantity Units	(4) ENVIROWASTE SERVICES GROUP, INC.		(5) SHENANDOAH GENERAL CONSTRUCTION, LLC			
() indicates item is bid as Lump Sum		1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:				\$549,090.00		\$606,462.25		



09/21/2020

Tabulation of Bids

Page 5 of 5

Letting: 01200917 September 17, 2020 **Call Order:** 001 **Contract:** E1T89

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.